

$$\log_n^m = a \rightarrow \frac{\log_m}{\log_n} = a$$

$$b = \log_{mn}^{m^n} = \frac{r \log_m + \log_n}{\log_m + \log_n} = \frac{r(a+1) + 1 + \frac{a}{a+1}}{a+1} \dots$$

$$[b] = 1$$

$$y = \sqrt{\frac{1}{\log \frac{1}{x}}} \Rightarrow \log \frac{1}{x} \neq 0 \Rightarrow \log \frac{1}{x} = u \Rightarrow u \neq 1$$

$$\frac{u}{\log \frac{1}{x}} \geq 0 \Rightarrow 0 < u < 1 \Rightarrow \dots, u > 1 \Rightarrow \dots$$

$$b) \frac{\log^2 x^2 - u^2}{\sqrt{x^2 - 1} + 1} \Rightarrow u^2 - u - 1 > 0 \Rightarrow (u-2)(u+1) > 0 \Rightarrow u < -1 \vee u > 2 \quad I$$

$$\sqrt{x^2 - 1} + 1 \Rightarrow u^2 - 1 > 0 \Rightarrow u \leq -1$$

$$\log_y^u = \frac{1}{\log_y^u}$$

$$r \log_r^a + \log_n^m = r \Rightarrow \frac{r}{r} \log_r^a + \log_n^m = r \Rightarrow \log_r^a + \log_n^m = r \Rightarrow \log_r^a + \frac{1}{\log_n^a} = r \Rightarrow$$

$$(\log_r^a)^2 + 1 = r (\log_r^a) \log_n^a \Rightarrow t^2 + 1 = rt \Rightarrow t^2 - rt + 1 = 0 \Rightarrow (t-1)^2 = 0 \Rightarrow t = 1$$

$$\log_r^a = 1 \Rightarrow a = r$$

$$\log_{10}^2 = 0.15, \log_{10}^3 = 0.15 \rightarrow r (\log_r^3) u = 0.15$$

$$(\log_{10}^2)^u + (\log_{10}^3)^u = \log_{10}^u$$

$$\log_{10}^2 - \log_{10}^3 = \log_{10}^2 - \log_{10}^3 - \log_{10}^3 = 0.15$$

$$0.15 u^2 + 0.15 u + 1 = 0 \Rightarrow 3u^2 + 3u - 1 = 0 \Rightarrow 2u^2 + 1u - 1 = 0 \Rightarrow$$

$$(u+1)(u-1) \Rightarrow 2u^2 - 1 = 0 \Rightarrow u = \pm \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$\log_{10}^2 = \frac{1}{r} \Rightarrow \frac{\log_r^2}{\log_{10}^2} = \frac{1}{r} \Rightarrow \frac{\log_r^2}{\log_{10}^2} = \frac{1}{r} \Rightarrow \frac{\log_r^2}{1 - \log_r^2} = \frac{1}{r} \Rightarrow$$

$$1 - \log_r^2 = r \log_r^2 \Rightarrow r \log_r^2 = 1 \Rightarrow \log_r^2 = \frac{1}{r}$$

$$\log_r^2 = \frac{1}{r} \Rightarrow \frac{\log_r^2}{\log_r^2} = \frac{1}{r} \Rightarrow \log_r^2 = \frac{1}{r} \Rightarrow \log_r^2 = \frac{1}{r} \times \frac{r}{10} = \frac{r}{10} = \frac{15}{10}$$

$$\log_{10}^2 = \frac{\log_{10}^2}{\log_{10}^2} = \frac{1}{\log_{10}^2 + \log_{10}^2} = \frac{1}{\frac{1}{r} + \frac{15}{10}} = \frac{1}{\frac{1}{10} + \frac{15}{10}} = \frac{10}{16}$$

$$\log_7^{\Delta} \times \log_7^{\Gamma} = \log_7^{\Delta} \Rightarrow 1,4 \times 1,4 = \log_7^{\Delta} = 1,9$$

$$\log_{10} 4 = \frac{\log_4 4}{\log_4 10} = \frac{\log_4 1 + \log_4 4}{\log_4 1 + \log_4 10} = \frac{1 + 1,4}{1,4 + 1,4} = \frac{2,4}{2,8} = 0,85$$

3

$$\log_{e^2} 17 = \frac{\log 17}{\log e}$$

$$\log_{\lambda}^r = \log_{\lambda}^r + \log_{\lambda}^r = \log_{\lambda}^r + \log_{\lambda}^r = \frac{1}{r} \log_{\lambda}^r + \frac{1}{r} \log_{\lambda}^r \Rightarrow$$

$$\log_n^r = \log_{n^{\frac{1}{r}}}^r = \frac{r}{\frac{1}{r}} \log_r^r = \frac{r}{\frac{1}{r}}$$

$$\log_{\lambda}^{\mu} = m \Rightarrow \log_{\lambda}^q + \log_{\lambda}^r = m \Rightarrow \log_{r^r}^{r^{\mu}} + \log_{r^r}^r = m \Rightarrow \frac{r}{r} \log_r^{\mu} + \frac{1}{r} \log_r^r = m \Rightarrow$$
$$\frac{r}{r} \log_r^{\mu} + \frac{1}{r} = m$$

$$\log \mu = \frac{\mu_{m-1}}{\mu}$$

Y

$$\left(\frac{a}{k}\right)^{n-1} = \left(\frac{1 \cdot \frac{a}{k}}{1}\right)^{n-1} \quad \frac{\frac{a}{k} \cdot \left(\frac{a}{k}\right)^{n-1}}{\frac{a}{k}} = \left(\frac{a}{k}\right)^{n-1} \cdot \left(\frac{a}{k}\right)^{n-1} = \left(\frac{a}{k}\right)^{2(n-1)}$$

$$\left(\frac{r}{s}\right)^{m-1} = \left(\frac{r}{s}\right)^{-m}$$

$$\gamma_M - 1 = -\gamma_M^T \Rightarrow \gamma_M^T + \gamma_M - 1 = 0 \quad \frac{\Delta z(r)^T - \mathcal{E}(r)(-1) = 0}{}$$

$$x = \frac{-2 - \sqrt{14}}{2} = -1 \qquad x = \frac{-2 + \sqrt{14}}{2} = \frac{1}{\sqrt{2}}$$

$$\log_{\lambda} a_{m+1} = \log_{\lambda} \left(\frac{r_{m+1}}{r_m} \right) = \log_{\lambda} r_{m+1} - \log_{\lambda} r_m = \log_{\mu} r_{m+1} - \log_{\mu} r_m = \frac{1}{\mu} \log_{\mu} r_{m+1} - \frac{1}{\mu} \log_{\mu} r_m$$

$x = -1$, a_{n+1} منفرد شود و تعریف شده محاسبه $\frac{1}{\sqrt{n}} \sum_{k=1}^n x_k$

人

$$\frac{1}{r} \log_r^b = \frac{r}{r} (1 + \log_r^r) \rightarrow \log_r^b = r \log_r^r = \log_r^{r \cdot r} =$$

$$\log_{10} 10 = 1$$

9

$$-F_a x^r + b x + \frac{1}{r} C = 0$$

$$\frac{1}{\log r} \log r = \log r \Rightarrow \frac{a}{b} = \frac{\log r}{r} = \frac{\log r}{r} = \frac{\log r}{r}$$

$$\Rightarrow r(a+b+c) \Rightarrow r \frac{a}{b} = 1 + \frac{c}{a} \xrightarrow{\frac{a}{b} = \frac{\log r}{r}} r\left(\frac{\log r}{r}\right) = 1 + \frac{c}{b} \Rightarrow \frac{c}{b} = \log r - 1$$

$$\frac{c}{a} = \frac{-1 + \log r}{\frac{\log r}{r}} \Rightarrow \frac{c}{a} = \frac{-1 + \log r}{\frac{1}{r} \log r} = \frac{\log \frac{1}{r}}{\frac{1}{r} \log r} \Rightarrow \frac{\log \frac{1}{r}}{\frac{1}{r} \log r} = \log \frac{1}{\sqrt{r}} \quad \frac{c}{a} \Rightarrow$$

1.

$$\Rightarrow \left(\frac{1}{\sqrt[r]{r}} \right)^{\frac{1}{a}} = \left(\frac{1}{\sqrt[r]{r}} \right)^{\log \frac{1}{\sqrt[r]{r}}} = \left(\frac{1}{\sqrt[r]{r}} \right)^{\log \sqrt[r]{\frac{1}{r}}} = \left(\frac{1}{\sqrt[r]{r}} \right)^{\log \frac{1}{r} \cdot \frac{1}{r}} = \left(\frac{1}{\sqrt[r]{r}} \right)^{\left(\frac{1}{r} \right) \log \frac{1}{r}} =$$

$$\left(\frac{1}{a}\right)^{-\frac{1}{k}} = a^{\frac{1}{k}} = \sqrt[k]{a}$$